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Note as explained in class:
+ is logical OR
Is Logical AND

Q Show the behavior of the above circuit with a
truth table

A|B| C|AB| BCY | © |(@ABHY (BCY+(AB+CY
0 |0 0|0 1 L 0 *
{1 D I 1 0 1 1
0 | 1| 0|0 1 1 0 1
IR 0 0 1 1
il R S 1 1 0 1
S NE SN 1 0 1 1
R 1 L 0 |
Sl R S A 0 0 0 0
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60.

Show the behavior of the following circuit with a truth table:

I

A I
—*_
B \
] - —
: _,.r"'j
A B AB | A+B| AB+(A+B)
0 0 0 0 0
0 1 0 1 1
1 0 0 1 1
1 1 1 1 1
Show the behavior of the following circuit with a truth table.
A B A° | AB A’ & (AB)
0 0 1 0 1
0 1 1 0 1
1 0 0 0 0
1 1 0 1 1
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58.

Draw a circuit diagram corresponding to the following Boolean expression:

Draw a circuit diagram corresponding to the following Boolean expression:

A’B + (B+C)
e
B }—Di
c
(AB) +(CD)
A
—
C

}_



Draw a circuit diagram corresponding to the following Boolean expression:
(A+B)B+C)

B -

C

Draw a circuit diagram corresponding to the following Boolean expression:
(AB+C)D

o1

JL}
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